Recall: Polar Coordinates
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Polar equations for 3 different
oo > 9 types of circles.

L I 11 N

(& Dry = o

.X2+ (g— OBZ — Cal

2
2
=

®Zx Y
\/O\ ?.f.lff‘. oo

YAt \81“2“5) +0. =0

?e\nf‘: N~ - “0\&?1
§ — & (__7_ . 20\,(‘3-‘/\(%\ - O
E £ = 2a ¢ $NE)

e
e gob e Se

. 0
peves 3 OEE0 ws  WEing \al.



Example: Plot the polar curve r = 3sin(0).
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Polar Flowers
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Example:
Plot the polar curve

- =5in(30)

Step 1
Create a plot in the & r plane.
(this is NOT the polar plot)
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Interpret the plot above to create

the polar plot.
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flower with 3 petals



Geogebra Exploration:
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See the applets
linked from the
course homepage
after class.



Polar graphs that F=acos (m 9)

produce flowers = asin ( m g)

a is areal number and m is a positive integer.

Fundamental Question: How do the values a and m effect the
graph?
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The tips of the petals on the flowers always lie on the circle of radius
la|. Also, the petals are evenly spaced around this circle.



r =2cos(20)

r =2sin (4192)

r =2sin(30)




Example:
Plot the polar curve

r=3
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Step 1 6

Create a plot in the @ plane.
(this is NOT the polar plot)
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Step 2
Interpret the plot above to create
the polar plot.




r =3+ 4cos(0)




Example: Geogebra Investigation

Investigate

course homepage after
class.

y = 3 + b coS (9) See the link from the

for b between 1 and 5.
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Geogebra Exploration:
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See the applets
linked from the

course homepage
after class.
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Polar curves of the form

r=a+bcos(6)

and

r:a+bsin(6’)
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are Cardioids, Limacons with dimples, and

Limagons with inner loops.

\a\l < WD\

Look Below...
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r =a+bcos(0)
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Note: The cosine versions can be
reflected across the y axis if b is




